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R 148
B F—Ls Ftun- K&1 tun- K&2 tun- KL3 tun- K&4 EnES
1 $HiESE A 4003 Hh KH#E 4008 ik BE 4009 ;57K BHE 5-882 A Ih#k 44.04
2 IseTC 4309 #HE KE 4332 &M $= 4327 A €L 4310 TK Rih 44.15
3 ®E A 4BVEEHPKX 431 EEHHE 443 LA =R 438 [FH KX 44.48
4 FEE B 461 hE EK 455 B BE 462 d L HRE 466 FxF Ml4E 44.96
5 f#3FE A 1653 #K Hth 1660 T HE 1663 AnF A 1661 AR & 45.10
6 $HESE B 40158 K& 4731 £H FEZE 4734 HBEE 51 4023 HFE FE 45.82
7 &Il 1521 #5HE &K 1505 £/ &k 1514 AT $REE 1513 $BA W EE 46.18
P 248
NEGL  F—Ls ton- K&1 Fton- K&2 ton- KL&3 ton- K44 SCE%
1 HPE 1110 /p#K 048t 1133 /DT T’ 1140 B ffEth 1139 XKJI &t 45.06
2 BH B 1633 tEMA & 1645 #EHF FF 1927 dv)Il F0t 1635 FE K= 4517
3 =Ea A 652 B0 BN 637 BI K 646 Rk &KX 641 L0 &HA 46.09
4  FR&E C 445 HFZ Rl 446 HH EiK 436 £E W3} 458 BB FAR 46.51
5 R B 1671 /NIl F5& 1655 #H #HE 1654 KT ik 1676 LT & 48.46
6 HBF B 644 ¥EI {47 650 ARER = 640 ¥AZ FEEA 645 KiE EX 49.24
=H A 1640 B th 1634 /MR B 1641 AR thE 1639 KE £t DSQ
R we
NEGL  F—Ls Fon- K&1 Fon- K&2 Fton- K&3 ton- KL4 0%
1 8ESE A 4003 Hth KiE 4008 {Fi% [EE 4009 ;&/K BAE 5-882 :5H ¥ 44.04
2 lseTC 4309 #HE KE 4332 &M $= 4327 A €L 4310 TK Rih 44.15
3 FEE A 4B EE K 431 EHHE 443 ILUH £¥R 438 [REH BX 44.48
4 FEE B 461 hE EK 455 B BE 462 d L HRE 466 Fx FIl4E 44.96
5 PR 1110 /p#K 048t 1133 /DT TR 1140 B ffEth 1139 XJI| &th 45.06
6 £3EE A 1653 #iK Hth 1660 A HE 1663 inF A 1661 AR & 45.10
7 BH B 1633 A 1645 EH FFE 1927 dv)Il 0t 1635 FEF K= 4517
8 $HESE B 40158 K& 4731 2@ 8 4734 WBIE 51 4023 HFE FF 45.82
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lERL  F—L fon- K&H1 fon- KH2 fon- KH2 Fon- K4S L8k

1 @R 1144 AR 3R 1145 T3 XK 1122 a1 B 1124 B #HF - 5411
2 =H 1936 ¥ #i{5 1934 ¥ p3E 1637 ithA FHZEF 1638 &Il HHY 54.28
1L 1523 BJIl ¥ 1511 &%) mRE 1510 B =F 1512 I BFE 57.36



